mean # PXL hits vs eta

<pixel hits> [

Ratio

=

o
o

o
o

0.4

02

10
1.05

0.95

0973

mean # PXL Layers with measurement vs eta

<pixel layers> [

o
0

Ratio

=

o
o))

o
~

P T ——

'R TR A B ST AT S B R ST AT A R A
] HE3

10

13 E «» "5-0-
1.05 R
HEd +| %[
x . T
1 - .4 : Tl
x P F T -
¥ T4 .,, ,EE;H. L]
0.95 TR
+
1
4

0973

—a— D
—— D
—— D

D

<strip hits> [

—— D

T—original_ori

—original—10
M~fitted4 IOOOevt
_f|t nocpe _1000evt

M~ fit_cpeOK 1000evt

n al[vector 1000evT

L %***m ...........

FE N

rars
H
—&——»—
==
-
ke
ras u

11-4
* |U
L

0.95

<strip layers>

SN P N . N O
¥

S P
J"LG_IIIIIIIIIIII!IIIIIIIIIIII

0.95




	Contents
	Page 1


